
MATHS

BOOKS - PEARSON IIT JEE FOUNDATION

GEOMETRY

EXAMPLE

1. In the given figure (not to scale),  and also .

Find x 

¯̄̄ ¯̄¯AB∣∣∣∣̄ ¯̄̄ ¯̄QP ∣∣∣∣̄ ¯̄̄ ¯̄SD∣∣ ¯̄¯̄̄ ¯QR ∣ ∣ ¯̄¯̄¯̄DP

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gTgI0jV91k9E


Watch Video Solution

2. Divide line segment  cm into six equal parts.

View Text Solution

AB = 10

3. Draw a line segment of length 8 cm and divides it in the ratio 

Watch Video Solution

2: 3

https://dl.doubtnut.com/l/_gTgI0jV91k9E
https://dl.doubtnut.com/l/_TmtD65I9eu2b
https://dl.doubtnut.com/l/_UOpw3KThRxFI
https://dl.doubtnut.com/l/_nqErqufdHI9t


4. The sides of  measure 5 cm, 12 cm and 13 cm. What type of a

triagnel is ABC ?

Watch Video Solution

ΔABC

5. The ratio of the angles A, C and B of triangle ABC is . If the equal

sides meausre 10 cm each, what is the length of the longest side ?

Watch Video Solution

1: 1: 2

6. In  and . Find 

Watch Video Solution

ΔPQR, ∠P = 40∘ ∠Q = 60∘ ∠R

7. In  cm and  . Find the range of values that

CA can take.

Watch Video Solution

ΔABC, AB = 10 BC = 8cm

https://dl.doubtnut.com/l/_nqErqufdHI9t
https://dl.doubtnut.com/l/_jhUa5FZbK9dF
https://dl.doubtnut.com/l/_iUZJEw49ZroT
https://dl.doubtnut.com/l/_dXdzgss6c6kf


8. In  and . Find 

Watch Video Solution

ΔABC, AC = BC ∠BAC = 70∘ ∠BCA

9. In the adjacent figure, BDE is a triangle in which EB is produced to F

and DB is produced to G. If  and 

, then the value of x is 

Watch Video Solution

∠DBE = x ∘ = ∠FBG = (x + 2)
∘

∠BED = (x + 7)
∘

https://dl.doubtnut.com/l/_dXdzgss6c6kf
https://dl.doubtnut.com/l/_Shg8ISCzOcx4
https://dl.doubtnut.com/l/_rR5NpHwFhBqW


10. In the following figure,  and 

. If the area of  is , what is the area of 

 ? 


Watch Video Solution

∠DAC = 30∘ , ∠ABC = ∠ADC = 95∘

∠BCA = 55∘ ΔACD 30cm2

ΔABC

11. In the given figure (not to scale) . Which of the following is

true? 

¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_rR5NpHwFhBqW
https://dl.doubtnut.com/l/_6YlBLLEThX4v
https://dl.doubtnut.com/l/_Z0lq3JWXMxDQ


(a)  


 


(c ) Both (a) and (b) 

(d) Neither of these 

View Text Solution

ΔAOB ≅ΔCOD

(b)ΔBOC ≅ΔDOA

12. In the given  and  are the medians. G is centroid.

What is the ratio of the area of  and ? 


ΔABC, ¯̄¯̄¯̄AD, ¯̄̄ ¯̄¯BE ¯̄̄ ¯̄¯CF

ΔBGD ΔGCE

https://dl.doubtnut.com/l/_Z0lq3JWXMxDQ
https://dl.doubtnut.com/l/_jpTYbvEiyAlm


Watch Video Solution

13. In the given triangle , if the length of  cm, what is the length

of GD ?

Watch Video Solution

AD = 12

14. Draw the perpendicular bisector of the line segment  cm.

Watch Video Solution

AB = 5

https://dl.doubtnut.com/l/_jpTYbvEiyAlm
https://dl.doubtnut.com/l/_XiK7TzVxeM0F
https://dl.doubtnut.com/l/_8eaN6L0QT47x


15. Draw the bisector of .

Watch Video Solution

∠AOB = 60∘

16. Construct triangle ABC in which  and 

Watch Video Solution

AB = 4.5cm, BC = 2.7cm

∠B = 54∘

17. Construct a triangle PQR in which  cm and  and 

.

Watch Video Solution

PQ = 3 ∠P = 45∘

∠ = 105∘

18. Prove >  if  and  .

Watch Video Solution

x

a

y

b
x > y b < 0

https://dl.doubtnut.com/l/_aFMhuo6ibOaU
https://dl.doubtnut.com/l/_aTAF0ZZrvAK2
https://dl.doubtnut.com/l/_k1W68Ym8HKhX
https://dl.doubtnut.com/l/_ZU3YLksGyvmL
https://dl.doubtnut.com/l/_wknt9E4G3hlZ


19. Construct the incircle for the triangle XYZ in which

 cm and .

View Text Solution

∠Y = 90∘ , XY = 6 Y Z = 4cm

20. BO and CO are external bisector of  and  of ABC

intersecting at O. If , Find 

Watch Video Solution

∠B ∠C △

∠A = 60∘ , ∠ABC = 70∘ ∠BOC

21. Construct a triangle XYZ in which XY  cm , the median XA drawn

from X to YZ is 6.6 cm and the median YB drawn from Y to XY is 7.2 cm. 

= 8

https://dl.doubtnut.com/l/_wknt9E4G3hlZ
https://dl.doubtnut.com/l/_rtNiMt9IGPQW
https://dl.doubtnut.com/l/_fKi8mGoiX6L7


View Text Solution

22. Construct a triange ABC in which AD,BE and CF are the medians with

 cm and .

View Text Solution

AD = 5.4cm, BE = 6 CF = 8.1cm

https://dl.doubtnut.com/l/_fKi8mGoiX6L7
https://dl.doubtnut.com/l/_G6rBHTVyq5Tq


23. In a circle of radius 13 cm, AB and CD are two equal and chords of

lengths 24 cm each .What is the distance between the chords ?

Watch Video Solution

24. In the adjoining figure, AXB is an arc of the circle. C and D are the

points on the remaining part of the circle. 

https://dl.doubtnut.com/l/_VIoyH04jbCxU
https://dl.doubtnut.com/l/_luHTHyWeDueJ


View Text Solution

25. In the adjoining figure, O is the centre of the circle. AB is an arc of the

circle and . Find . ∠AOB = 80∘ ∠ACB

https://dl.doubtnut.com/l/_luHTHyWeDueJ
https://dl.doubtnut.com/l/_HRoRxt75TdA1


Watch Video Solution

26. In the adjoining figure, O is the centre of the circle. AB and CD are

equal chords. 

https://dl.doubtnut.com/l/_HRoRxt75TdA1
https://dl.doubtnut.com/l/_QEZTMnZKWyGE


If , then find . 

Watch Video Solution

∠AOB = 100∘ ∠CED

27. In the given figure, AB and CD are two equal chords. If O is the centre

of the circle , , then find . ∠AOB = 120∘ ∠OCD

https://dl.doubtnut.com/l/_QEZTMnZKWyGE
https://dl.doubtnut.com/l/_gEb7LkjgFR10


Watch Video Solution

28. In the given figure ( no to scale), ABCD is a cyclic quadrilateral,

 and ¯̄¯̄¯̄DE ⊥ ¯̄̄ ¯̄¯AB, ∠BAO = 40∘ = 40∘ , ∠OAD = 20∘

https://dl.doubtnut.com/l/_gEb7LkjgFR10
https://dl.doubtnut.com/l/_8jeI9Hbxd8oC


 


Watch Video Solution

∠OCD = 50∘ ∠ABC =

29. Determine the line of symmetry of a triangle ABC in which 

and .

Watch Video Solution

∠A = 70∘

∠B = ∠C = 55∘

https://dl.doubtnut.com/l/_8jeI9Hbxd8oC
https://dl.doubtnut.com/l/_vJFlT5WssvRH


30. Determine the point of symmetry of a regular octagon.

Watch Video Solution

31. Complete the following figure so that Y-axis is the line of symmetry of

the completed figure. 

Watch Video Solution

https://dl.doubtnut.com/l/_6WjFNorzQcXP
https://dl.doubtnut.com/l/_jaDqfz2cJzjT


32. Determine the images of the following figure about the given line. 

Watch Video Solution

33. Divide line segment AB=10 cm into six equal parts.

Watch Video Solution

34. Draw a line segment of length 8 cm and divides it in the ratio 

Watch Video Solution

2: 3

https://dl.doubtnut.com/l/_OWdT8JGQ2yhz
https://dl.doubtnut.com/l/_sAm5nLjKKzX7
https://dl.doubtnut.com/l/_vSuNctmV8BjL


35. The sides of  measure 5 cm, 12 cm and 13 cm. What type of a

triagnel is ABC ?

Watch Video Solution

ΔABC

36. The ratio of the angles A, C and B of triangle ABC is . If the equal

sides meausre 10 cm each, what is the length of the longest side ?

Watch Video Solution

1: 1: 2

37. In . Find `angleR.

Watch Video Solution

ΔPQR, ∠P = 50∘ and ∠Q = 60∘

38. In  cm and  . Find the range of values

that CA can take.

Watch Video Solution

ΔABC, AB = 10 BC = 8cm

https://dl.doubtnut.com/l/_GmWoTpVpvrVY
https://dl.doubtnut.com/l/_FOG3rBmTBOCh
https://dl.doubtnut.com/l/_CTG5GnrOfnUy
https://dl.doubtnut.com/l/_rpj82jxJJiaF


39. In  Find .

Watch Video Solution

ΔABC, AC = BC and ∠BAC = 50∘ . ∠BCA

40. In the adjacent figure, BDE is a triangle in which EB is produced to F

and DB is produced to G. If  and 

, then the value of x is 

Watch Video Solution

∠DBE = x ∘ = ∠FBG = (x + 2) ∘

∠BED = (x + 7) ∘

https://dl.doubtnut.com/l/_rpj82jxJJiaF
https://dl.doubtnut.com/l/_W7xuQfqoD6ec
https://dl.doubtnut.com/l/_FBZA8uE43DjD


Watch Video Solution

41. In the following figure,  and 

. If the area of  is , what is the area of 

 ? 


Watch Video Solution

∠DAC = 30∘ , ∠ABC = ∠ADC = 95∘

∠BCA = 55∘ ΔACD 30cm2

ΔABC

https://dl.doubtnut.com/l/_FBZA8uE43DjD
https://dl.doubtnut.com/l/_glM70cieF6wD


42.  


In the above  are the medians. G is the

centroid. What is the ratio of the areas of ?

Watch Video Solution

ΔABC, ¯̄¯̄¯̄AD, ¯̄̄ ¯̄¯BE, and ¯̄̄ ¯̄¯CF

ΔBGD and ΔGCE

43. In the given triangle , if the length of  cm, what is the length

of GD ?

Watch Video Solution

AD = 12

44. Draw the perpendicular bisector of the line segment  cm.

Watch Video Solution

AB = 5

https://dl.doubtnut.com/l/_II2Q1yTw6sMt
https://dl.doubtnut.com/l/_bdwVhWJj2u2p
https://dl.doubtnut.com/l/_wNw1QODRrhG1
https://dl.doubtnut.com/l/_srx3aTSpqCEW


45. Draw the bisector of .

Watch Video Solution

∠AOB = 60∘

46. Construct triangle ABC in which  and 

Watch Video Solution

AB = 4.5cm, BC = 2.7cm

∠B = 54∘

47. Construct a triangle PQR in which PQ= 2cm.

.

Watch Video Solution

∠P = 45∘ , and ∠Q = 105∘

48. Can we construct a triangle ABC in which  cm,  cm

and  cm ?

Watch Video Solution

AB = 3 BC = 4

AC = 8

https://dl.doubtnut.com/l/_srx3aTSpqCEW
https://dl.doubtnut.com/l/_EFdB90fOmyWP
https://dl.doubtnut.com/l/_JFWavAwqlzwV
https://dl.doubtnut.com/l/_kYyKhzkKJtUa


49. The following sentences are the steps involved in construction of the

incircle for the triangle XYZ in which  cm and 

 cm. 


Arrange them in sequential order from the first to the last. 

(A) Mark the foot of the perpendicular from I onto YZ as D. 

(B) Construct the triangle XYZ with  cm and 

. 


(C ) Draw a circle with I as the centre and ID as radius. This is the required

incircle. 

(D) Draw the bisectors of  and  and mark their point of

concurrence as I.

Watch Video Solution

∠Y = 90∘ , XZ = 6

Y Z = 4

∠Y = 90∘ , XZ = 6

Y Z = 4cm

∠X, ∠Y ∠Z

50. In a circle of radius 13 cm, AB and CD are two equal and chords of

lengths 24 cm each .What is the distance between the chords ?

Watch Video Solution

https://dl.doubtnut.com/l/_kYyKhzkKJtUa
https://dl.doubtnut.com/l/_N3IRbhsdDYOn
https://dl.doubtnut.com/l/_9SpKZKWJguZo


51. In the following figure, AB is an arc of the circle, C and D are the points

on the circle. If , Find . 


Watch Video Solution

∠ACB = 30∘ ∠ADB

https://dl.doubtnut.com/l/_9SpKZKWJguZo
https://dl.doubtnut.com/l/_TGug7yfbKK4A


52. In the adjoining figure, O is the centre of the circle. AB is an arc of the

circle and . Find . 

Watch Video Solution

∠AOB = 80∘ ∠ACB

53. In the adjoining figure, O is the centre of the circle. AB and CD are

equal chords. 

https://dl.doubtnut.com/l/_BZ8hjO6LeBSM
https://dl.doubtnut.com/l/_zSFZ0OtHH9MU


If , then find . 

Watch Video Solution

∠AOB = 100∘ ∠CED

54. In the given figure, AB and CD are two equal chords. If O is the centre

of the circle , , then find . ∠AOB = 120∘ ∠OCD

https://dl.doubtnut.com/l/_zSFZ0OtHH9MU
https://dl.doubtnut.com/l/_OMS40ajnqv5d


Watch Video Solution

55. In the given figure ( no to scale), ABCD is a cyclic quadrilateral,

 and ¯̄¯̄¯̄DE ⊥ ¯̄̄ ¯̄¯AB, ∠BAO = 40∘ = 40∘ , ∠OAD = 20∘

https://dl.doubtnut.com/l/_OMS40ajnqv5d
https://dl.doubtnut.com/l/_Jk2rQolR6Pv4


 


Watch Video Solution

∠OCD = 50∘ ∠ABC =

56. Determine the line of symmetry of a triangle ABC in which 

and .

Watch Video Solution

∠A = 70∘

∠B = ∠C = 55∘

https://dl.doubtnut.com/l/_Jk2rQolR6Pv4
https://dl.doubtnut.com/l/_XeTBEdWujb2S


57. Determine the point of symmetry of a regular octagon.

Watch Video Solution

58. Complete the following figure so that Y- axis is the line of symmetry of

the completed figure . 

Watch Video Solution

https://dl.doubtnut.com/l/_NTGHKu2OSW4R
https://dl.doubtnut.com/l/_DsZmVUVABbdX


very short answer type question

59. Determine the images of the following figure about the given line : 

Watch Video Solution

https://dl.doubtnut.com/l/_t6bYP5h966yk


1.  


In the above figure (not to scale) ,  and . If 

 and  find the following . 

(i)  (ii)  

(iii) 

Watch Video Solution

AB ∣ ∣ DE EC ∣ ∣ GF

∠EGF = 100∘ ∠ECF = 40∘ ,

∠ABC ∠GFC

∠GDF

https://dl.doubtnut.com/l/_seFjCC7YYOmW


2. Which of the letters of the English alphabet have only one line of

symmetry ?

Watch Video Solution

3. The angle whose supplement is three times its complement is

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

____________________

45∘

50∘

25∘

65∘

https://dl.doubtnut.com/l/_EzwhR4O9Wlf2
https://dl.doubtnut.com/l/_IpY9Vsmd6iqm


4. In , if , then ABC is a  an 

 triangle.

Watch Video Solution

ΔABC ∠A < ∠B < 45∘ /

__________________

5. In , if  and , then 

.

Watch Video Solution

ΔABC ∠A = 80∘ AB = AC

∠B =_ __ __ __ __ __ _

6. In . The longest side of is 

.

Watch Video Solution

ΔABC, ∠A = ∠C = 50∘ ΔABC

__ __ __ __ __ __

7. If G is the centroid of , then the area of  is 

 times the area of quadrilateral ABCG.

ΔABC ΔBGC

_______________

https://dl.doubtnut.com/l/_hKnN0E6w9v8Y
https://dl.doubtnut.com/l/_OOzaA3yQ8TPC
https://dl.doubtnut.com/l/_dMCZ1pzjeSIt
https://dl.doubtnut.com/l/_chtmCr6Lkuls


Watch Video Solution

8. ABCD is a quadrilateral in which 

and . The number of pairs of parallel lines is 

.

Watch Video Solution

∠A = 60∘ , ∠B = 70∘ , ∠C = 110∘

∠D = 120∘

________________

9. Which of the following digits have two lines of symmetry ? 

Watch Video Solution

0, 1, 2, 3, 4, 5, 6, 7, 8, 9

https://dl.doubtnut.com/l/_chtmCr6Lkuls
https://dl.doubtnut.com/l/_6CmXzIr5EUZb
https://dl.doubtnut.com/l/_RXEeC7iIDiJ2


10.  


In the above figure ( not to scale ) the sides BA,BC and CA of  are

produced to D,F, and E respectively such that  and 

. Then .

Watch Video Solution

ΔABC

∠ACF = 120∘

∠BAE = 150∘ ∠ABC =_ __ __

11. If all the sides of a polygon ABCDE are equal, then  ( Yes 

No  May or May not be )

Watch Video Solution

∠A = ∠C. /

/

https://dl.doubtnut.com/l/_PrcbhG1DTdnt
https://dl.doubtnut.com/l/_tIPTjWJu1LvW


12. The chords which are equidistant from the centre of a circle are equal

only if they are parallel to each other. [True  False ]

Watch Video Solution

/

13. In the figure below,  is the diameter of the circle with centre O. 

 bisects the . If , then find . 


¯̄̄ ¯̄̄ ¯̄MN

¯̄¯̄¯̄NP ∠ANM ∠NMA = 33∘ ∠ANP

https://dl.doubtnut.com/l/_tIPTjWJu1LvW
https://dl.doubtnut.com/l/_b0R8rewgFEZD
https://dl.doubtnut.com/l/_BkATcXh1nsKm


Watch Video Solution

https://dl.doubtnut.com/l/_BkATcXh1nsKm


14.  


In the above figure, O is the centre of the circle AB,AD and CD are the

chords . If  then fid .

Watch Video Solution

∠ADC = 130∘ ∠ACB

https://dl.doubtnut.com/l/_9phUKW970KIM


15.  


In the given figure, AB is the diameter and . If 

, then find the angle made by AC at the centre of the circle.

Watch Video Solution

∠ADC = 2∠BDC

∠BCD = 70∘

16. The distances of two chords AB and CD from the centre of a circle are

6 cm and 8 cm respectively. Then, which chord is longer?

Watch Video Solution

https://dl.doubtnut.com/l/_U5nwkdiw8H13
https://dl.doubtnut.com/l/_JSPtcDfJfcsZ


17. If three equal chords meet at three distinct points on the circle, then

the angle between any two chords is .

View Text Solution

__ __ __ __

18. In the following figure, if  then . [True 

False  Cannot say ] 


Watch Video Solution

∠AOB = 60∘ ∠ACB = 30∘ /

/

https://dl.doubtnut.com/l/_ScBM08uqbawn
https://dl.doubtnut.com/l/_fw392d1t78OL


19. If the diagonals of a cyclic quadrilateral intersect at the centre of a

circle , then the quadrilateral is .

Watch Video Solution

_______________

20. If two equal chords bisect each other, then the point of intersection of

the chords coincides with their centre. [True  False]

Watch Video Solution

/

21. PS is the chord of the circle with centre O. A perpendicular is drawn

from centre O of the circle to chord PS at M. If  and 

, then find the radius of the circle.

Watch Video Solution

¯̄¯̄¯PS = 30cm

¯̄¯̄¯̄¯OM = 8cm

https://dl.doubtnut.com/l/_B60YsVG8AYM2
https://dl.doubtnut.com/l/_V1yy30zGSC9m
https://dl.doubtnut.com/l/_0qGJ0cOMNkBt


22. The radius of a circle is 10cm. The length of a chord is 12 cm. Then the

distance of the chord from the centre is .

Watch Video Solution

__________________

23. In a circle , chord AB subtends an angle of  at the centre and chord

CD subtends , at it. Then which chord is longer ?

Watch Video Solution

60∘

120∘

24. A line which bisects the diameter of a circle is perpendicular to the

diameter. [True  False]

Watch Video Solution

/

25. AB and CD are equal and parallel chords of a circle with centre O. Then

AC passes through the centre O. [Agree  Disagree]/

https://dl.doubtnut.com/l/_aEIah4bKvrir
https://dl.doubtnut.com/l/_T7qxaAbK9rML
https://dl.doubtnut.com/l/_HEWtq8C9t22V
https://dl.doubtnut.com/l/_JtZMxDKMvRsl


Short Answer Type Questions 31

Watch Video Solution

1.  


In the above figure, AB is parallel to CD. P and R are the points on AB and

CD respectively. Q is in between AB and CD. Find the value of x in degrees

Watch Video Solution

2. In the figure below ( not to scale), ABC is a straight line. If

 and ∠FBE = 60∘ , ∠CBG = 120∘ , ∠ABG = x ∘ , ∠ABF = gamm ∘

https://dl.doubtnut.com/l/_JtZMxDKMvRsl
https://dl.doubtnut.com/l/_fqTzK08xns7S
https://dl.doubtnut.com/l/_3s3MVDiUHN7s


, then  is 


Watch Video Solution

∠CBE = z ∘ = 2γ ∘ (x ∘ + z ∘ ) : γ ∘

3. In the figure below ( not to scale)

 and ¯̄¯̄¯̄CD ∣ ∣ ¯̄¯̄¯RS∠EMG = 90∘ , ∠GMD = γ ∘ , ∠CME = x ∘

https://dl.doubtnut.com/l/_3s3MVDiUHN7s
https://dl.doubtnut.com/l/_Yv5IvrGU0Gax


. is 

Watch Video Solution

γ ∘ =
x ∘

2
∠FNS : ∠FNR

https://dl.doubtnut.com/l/_Yv5IvrGU0Gax


4.  


In the above  ( not to scale ), OA is the angle bisector of  .

If  and . If 

then find 

Watch Video Solution

ΔABC ∠BAC

OB = OC, ∠OAC = 40∘ ∠ABO = 20∘ ∠OCB = ∠ACO,
1

2

∠BOC.

5. The angles of a quadrilateral ABCD are  and 

, taken in the same order. Then the quadrilateral ABCD is

necessarily a

Watch Video Solution

x ∘ , (x + 1) ∘ , (x + 2) ∘

(x + 3) ∘

https://dl.doubtnut.com/l/_OuVg7txam9df
https://dl.doubtnut.com/l/_GVQBsE6Cml8c


6. MN and PS are two equal chords of a circle drawn on either side of

centre O of the circle . Both the chords are produced to meet at point A. If

the radius of the circle is 10cm. cm and OA  cm , then find

NA.

Watch Video Solution

MN = 12 = 17

7.  


In the figure above (not to scale), AB is the diameter of the circle with

centre O. If  then find .∠ACO = 30∘ , ∠BOC

https://dl.doubtnut.com/l/_GgSYpjjKAGN4
https://dl.doubtnut.com/l/_PL3ig1YkjwVk


Watch Video Solution

8.  


In the figure (not to scale ), O is the centre of the circle and

. Find 

Watch Video Solution

∠OBA = 30∘ ∠ACB

https://dl.doubtnut.com/l/_PL3ig1YkjwVk
https://dl.doubtnut.com/l/_XCkWbSElhKJK


Essay type Question

9.  


In the figure above (not to scale),  and . Find

 if O is the centre of the circle.

Watch Video Solution

AB = AC ∠BAO = 25∘

∠BOC,

https://dl.doubtnut.com/l/_MQimGeES1K8f


1.  In the figure

above ( not to scale),  and . If 

and , find  and 

Watch Video Solution

¯̄̄ ¯̄¯PF ∣ ∣ ¯̄̄ ¯̄¯BE ¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄CD ∠FDC = 130∘

∠ACD = 20∘ ∠ACB ∠ABC

2. In the given below ,PQRS is a square and STR is an euilateral triangle .

Find the value of a . 

https://dl.doubtnut.com/l/_Pt6jc735jJa2
https://dl.doubtnut.com/l/_EZCMQy6M91Zk


Watch Video Solution

3. In the figure below, CD is a chord of the semi circle with centre O. 

 OA is the

https://dl.doubtnut.com/l/_EZCMQy6M91Zk
https://dl.doubtnut.com/l/_prGikRvPA0jU


Level 1

radius of the circle. If  cm,  cm and  the

length of OB is 

Watch Video Solution

CD = 10 AB = 2 ¯̄̄ ¯̄¯OA ⊥ ¯̄¯̄¯̄CD

_____________

1. In the figure below (not to scale) , , reflex 

and . The measure of  will be 


A. 

B. 

C. 

¯̄¯̄̄ ¯PQ ∣ ∣ ¯̄¯̄¯T S ∠QRS = 300∘

x − y = 30∘ y

25∘

15∘

20∘

https://dl.doubtnut.com/l/_prGikRvPA0jU
https://dl.doubtnut.com/l/_u4ybP5xz5Rf5


D. 

Answer: B

Watch Video Solution

30∘

2. In a triangle ABC, if  and the measures of 

and  in degrees are integers, then the least possible value of  is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∠A > ∠B > ∠C ∠A, ∠B

∠C ∠A

70∘

65∘

60∘

61∘

https://dl.doubtnut.com/l/_u4ybP5xz5Rf5
https://dl.doubtnut.com/l/_mwauOqQK3MPU


3.  


In the above figure,  and  .

What is the value of  ?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∠ABD = 20∘ , ∠BDC = 110∘ ∠DCA = 30∘

∠BAC

30∘

60∘

90∘

120∘

https://dl.doubtnut.com/l/_pWo8arpbf3qr
https://dl.doubtnut.com/l/_D00C6oMfL5Po


4. In the figure below (not to scale), , and  is

bisector of  . If  , then find the measure of .

A. 

B. 

C. 

¯̄¯̄¯̄¯MR ⊥ ¯̄¯̄̄ ¯̄MP , ¯̄¯̄¯̄¯MQ ⊥ ¯̄̄ ¯̄̄ ¯̄MN ¯̄̄ ¯̄̄ ¯MS

∠RMQ ∠PMN = 50∘ ∠RMS

25∘

20∘

30∘

https://dl.doubtnut.com/l/_D00C6oMfL5Po


D. 

Answer: a

Watch Video Solution

35∘

5.  In the

figure above (not to scale),  and 

. If , then find .

A. 

B. 

C. 

¯̄̄ ¯̄¯EF ∣∣∣∣̄ ¯̄¯̄¯GD, ¯̄̄ ¯̄¯AF ∣∣∣∣̄ ¯̄̄ ¯̄EG, ¯̄¯̄¯̄AD ∣ ∣ ¯̄̄ ¯̄¯BC

∠DCG = 100∘ ∠CDG = 40∘ ∠AEF

30∘

40∘

150∘

https://dl.doubtnut.com/l/_D00C6oMfL5Po
https://dl.doubtnut.com/l/_pvJ0yXaDuBvd


D. 

Answer: b

Watch Video Solution

60∘

6. In the figure below,  and . Which of

the following congurency axiom(s) is  are suitable to prove that 

 ? 

¯̄̄ ¯̄¯BC ∣ ∣ ¯̄̄ ¯̄¯EF , BC = EF DF = AC

/

ΔBCA = ΔEFD

https://dl.doubtnut.com/l/_pvJ0yXaDuBvd
https://dl.doubtnut.com/l/_5RiZ0LlCOy3l


Watch Video Solution

7.  


In the above figure (not to scale), E and F are the mid points of AB and CD

respectively. 

, AND  is

A. 

B. 

C. 

D. 

¯̄̄ ¯̄¯AB∣∣∣∣̄ ¯̄¯̄¯CD, ¯̄̄ ¯̄¯BC∣∣∣∣̄ ¯̄̄ ¯̄AD, ∠ADE = 70∘ ∠BCE = 40∘ , ∠DEC

70∘

40∘

110∘

120∘

https://dl.doubtnut.com/l/_5RiZ0LlCOy3l
https://dl.doubtnut.com/l/_GVfhoeXgdPK8


Answer: c

Watch Video Solution

8. What is the number of lines of symmetry for a parallelogram ?

A. 2

B. 4

C. 0

D. 6

Answer: c

Watch Video Solution

9. Given below are some figures. Choose the image of the given figure

with respect to the given line from the given choices. 

https://dl.doubtnut.com/l/_GVfhoeXgdPK8
https://dl.doubtnut.com/l/_SRkFqBl4LemG
https://dl.doubtnut.com/l/_QMvb62sYz7XM


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

10. In the given figure , PQ and RS are chords of length 10 cm each

intersecting at B . If  the area of  is 32  ,∠PBS = 90∘ and ΔPBS cm2

https://dl.doubtnut.com/l/_QMvb62sYz7XM
https://dl.doubtnut.com/l/_nnjyGjjxX10F


then the length of BR is ________ . 

A. 2 cm

B. 4 cm

C. 6 cm

D. 8 cm

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_nnjyGjjxX10F


11.  


In the above figure (not to scale), O is the centre of the circle.  and 

 are equal chords. If  , then find .

A. 

B. 

C. 

D. 

¯̄̄ ¯̄¯BC

¯̄¯̄¯̄CD ∠OBC = 70∘ ∠BAD

40∘

60∘

55∘

45∘

https://dl.doubtnut.com/l/_nnjyGjjxX10F
https://dl.doubtnut.com/l/_SD7z4UabwHs5


Answer: a

Watch Video Solution

12.  


In the above figure (not to scale), O is the centre of the circle.  and 

 are two chords. C is the point of intersection of  and . If 

 and , then 

A. 

B. 

¯̄̄ ¯̄¯AP

¯̄̄ ¯̄¯BP ¯̄̄ ¯̄¯AP ¯̄̄ ¯̄¯OB

∠OAC = 30∘ ∠PBC = 80∘ ∠AOB =

110∘

100∘

https://dl.doubtnut.com/l/_SD7z4UabwHs5
https://dl.doubtnut.com/l/_tpW6N4M55eD3


C. 

D. 

Answer: B

Watch Video Solution

130∘

120∘

13.  

In the above figure ,  are equal chords and  is¯̄̄ ¯̄¯AB and ¯̄̄ ¯̄¯AC ¯̄¯̄¯̄OD

https://dl.doubtnut.com/l/_tpW6N4M55eD3
https://dl.doubtnut.com/l/_S7MzClAvvOU5


perpendicular to  . If , then the angle between the

chords is ______ .

A. 

B. 

C. 

D. Cannot be determined

Answer: B

Watch Video Solution

¯̄̄ ¯̄¯AC ∠COD = 60∘

30∘

60∘

90∘

https://dl.doubtnut.com/l/_S7MzClAvvOU5


14.  


In the above figure, O is the centre of the circle and . If 

, then find the angle made by the chord CD at the centre.

A. 

B. 

C. 

D. 

Answer: d

AB = CD

∠APB = 110∘

220∘

110∘

120∘

140∘

https://dl.doubtnut.com/l/_XGwqX6ZuYiFI


Watch Video Solution

15.  


In the above diagram (not to scale), . O is the centre of the

circle. If , then 

A. 

B. 

C. 

D. 

AB = AC =

∠ABC = 80∘ ∠BOC =

20∘

40∘

60∘

80∘

https://dl.doubtnut.com/l/_XGwqX6ZuYiFI
https://dl.doubtnut.com/l/_YtM9z1Y3U39P


Answer: b

Watch Video Solution

16.  


In the figure above (not to scale),  and . 

A. 

B. 

AB = CD ∠A = 100∘ ∠C =

100∘

120∘

https://dl.doubtnut.com/l/_YtM9z1Y3U39P
https://dl.doubtnut.com/l/_IORH9CdJu897


C. 

D. 

Answer: a

Watch Video Solution

80∘

40∘

17.  


In the above figure, ABCD is a cyclic quadrilateral and .

Find the angle made by the diagonal BD at the centre of the circle.

∠BCD = 2∠BAD

https://dl.doubtnut.com/l/_IORH9CdJu897
https://dl.doubtnut.com/l/_eTj56Pp1lcAN


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘

80∘

100∘

120∘

18. In the below figure, one part of the line of symmetrcy is given.

Recongnise the second part. 

https://dl.doubtnut.com/l/_eTj56Pp1lcAN
https://dl.doubtnut.com/l/_risaLHVBAjyn


https://dl.doubtnut.com/l/_risaLHVBAjyn


A. 

B. 

C. 

https://dl.doubtnut.com/l/_risaLHVBAjyn


D. 

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_risaLHVBAjyn


19.  In the

above figure , AB and CD are equal chords and O is the centre of the

circle. If , then 

A. 

B. 

C. 

D. 

Answer: b

∠OPB = 50∘ ∠PBD = ____________

30∘

40∘

50∘

60∘

https://dl.doubtnut.com/l/_O0AZNf8UGjIW


View Text Solution

20.  In the

given figure, . 


If  , then the angle made by AB at the centre of the circle

is

A. 

B. 

∠DBA = 2∠DAB = 4∠CAD

∠ADC = 120∘

20∘

40∘

https://dl.doubtnut.com/l/_O0AZNf8UGjIW
https://dl.doubtnut.com/l/_iEetbTjoA2NU


C. 

D. 

Answer: d

Watch Video Solution

60∘

80∘

21. In the given figure (not to scale), O is the centre of the circle. A,B,C and

D are concyclic and . If , then find . 
AB = CD ∠MON = 120∘ ∠OPN

https://dl.doubtnut.com/l/_iEetbTjoA2NU
https://dl.doubtnut.com/l/_0YvC2c2R57Po


A. 

B. 

C. 

20∘

30∘

40∘

https://dl.doubtnut.com/l/_0YvC2c2R57Po


D. 

Answer: b

Watch Video Solution

60∘

22. In the following figure ( not to scale), 

and . Find . 

A. 

∠ADC = 60∘ , ∠BAD = 80∘

∠EBC = 2∠PDE ∠APE

60∘

https://dl.doubtnut.com/l/_0YvC2c2R57Po
https://dl.doubtnut.com/l/_MdFfb7dd38wM


B. 

C. 

D. 

Answer: c

Watch Video Solution

80∘

120∘

140∘

23. How many lines of symmetry does the above figure have ? 

A. 2

https://dl.doubtnut.com/l/_MdFfb7dd38wM
https://dl.doubtnut.com/l/_rIc2rGtxiyDU


B. 3

C. 1

D. 0

Answer: a

Watch Video Solution

24.  In the

above figure (not to scale)  and  are chords of the¯̄̄ ¯̄¯AB, ¯̄̄ ¯̄¯BC, ¯̄̄ ¯̄¯CF , ¯̄¯̄¯̄DE ¯̄̄ ¯̄¯FE

https://dl.doubtnut.com/l/_rIc2rGtxiyDU
https://dl.doubtnut.com/l/_G6cGzPbQA2NB


circle. If  and , then 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∠ABC = 100∘ ∠FED = 110∘ ∠FPA =

20∘

30∘

40∘

70∘

25. In the figure given below,  and . If 

 and , then the angle made by  at the

¯̄¯̄¯̄ED ∣ ∣ ¯̄̄ ¯̄¯AB ¯̄̄ ¯̄¯EF ∣ ∣ ¯̄̄ ¯̄¯BC

∠FED = 40∘ ∠DEC = 20∘ ¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_G6cGzPbQA2NB
https://dl.doubtnut.com/l/_vy10SttWdLVC


centre is 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

20∘

40∘

60∘

80∘

https://dl.doubtnut.com/l/_vy10SttWdLVC


26. The supplement of an angle and the complement of another have a

sum equal to half of a complete angle. If the greater angle is  more

than the smaller , find the smaller angle.

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

10∘

40∘

35∘

45∘

30∘

27. ABCD is a trapezium in which 

cm,  cm and  cm . Find 

A. 

B. 

AB ∣ ∣ CD, AB = 20cm, BC = 10

CD = 10 AD = 10 ∠ADC

80∘

100∘

https://dl.doubtnut.com/l/_L4LSRexVDq0C
https://dl.doubtnut.com/l/_iXKcHSfLAzSu


C. 

D. 

Answer: c

Watch Video Solution

120∘

140∘

28. P is an interior point of quadrilateral ABCD and cm, 

 and  cm . Then which of the

following can be the possible value of  ?

A. 7.9 cm

B. 8 cm

C. 8.1 cm

D. 6.4 cm

Answer: C

Watch Video Solution

AB = 3.5

BC = 4cm, CD = 4.8cm AD = 3.7

(AP + BP + CP + DP )

https://dl.doubtnut.com/l/_iXKcHSfLAzSu
https://dl.doubtnut.com/l/_F7dykmUOghVj


29. The angles of a triangle are in the ratio  . Find them 


The following are the steps involved in solving the above problem. 

Arrange them in sequential order from the first to the last. 

(A)  


 


(B) Let the angles be A,B and C. Given  


 


(C ) We know that the sumf of the angles of a triangle is

 


(D) The angles are  and 

.

A. BCAD

B. CBDA

C. BACD

D. BDCA

Answer: a

2: 3: 4

2x + 3x + 4x = 180∘

⇒ 9x = 180∘ ⇒ x = 20∘

A : B : C = 2: 3: 4

⇒ A = 2x, B = 3x = C = 4x

180∘ , ie. , A + B + C = 180∘

: A = 2(20∘ ) = 40∘ , B = 3(20∘ ) = 60∘

C = 4(20∘ ) = 80∘

https://dl.doubtnut.com/l/_F7dykmUOghVj
https://dl.doubtnut.com/l/_meGEToUIz52x


Watch Video Solution

30. Prove that each of the following diagonals of a parallelogram divides

it into two congurent triangles. The following lowing are the steps

involved in proving the above results. Arrange them in sequential order. 

 


(A) By SSS conguruence property , . 


(B) Let ABCD be a parallelogram and join BD. 

(C ) (opposite sides of parallelogram) and 

 (common side). 


(D ) Similarly , AC divides the parallelogram into two congruent triangles.

A. ABCD

ΔDAB ≅ΔBCD

AB = CD, AD = BC

BD = BD

https://dl.doubtnut.com/l/_meGEToUIz52x
https://dl.doubtnut.com/l/_8aVVz7lgbzWR


B. BCAD

C. BACD

D. CBAD

Answer: B

Watch Video Solution

31.  


In a rhombus BEST,if  and , then find the length of∠B = 60∘ BT = 6cm

https://dl.doubtnut.com/l/_8aVVz7lgbzWR
https://dl.doubtnut.com/l/_MFvg0pEdS829


the diagonal TE. 

The following are the steps involved in solving the above problem.

Arrange them in sequential order. 

(A)  BTE is an equilateral triangle. 


(B) Join T and E 

(C ) In

. 

(D) cm

A. BCAD

B. BCDA

C. BACD

D. BADC

Answer: A

Watch Video Solution

⇒ Δ

ΔBET , BT = BE ⇒ ∠BT E = ∠BET = = 60∘ ( ∵ ∠B = 6
180∘ − 60∘

2

T E = 6

https://dl.doubtnut.com/l/_MFvg0pEdS829


32. The following sentences are the steps involved in construction of the

incircle for the triangle XYZ in which  cm and 

 cm. 


Arrange them in sequential order from the first to the last. 

(A) Mark the foot of the perpendicular from I onto YZ as D. 

(B) Construct the triangle XYZ with  cm and 

. 


(C ) Draw a circle with I as the centre and ID as radius. This is the required

incircle. 

(D) Draw the bisectors of  and  and mark their point of

concurrence as I.

A. BDCA

B. DBAC

C. DBCA

D. BDAC

Answer: D

∠Y = 90∘ , XZ = 6

Y Z = 4

∠Y = 90∘ , XZ = 6

Y Z = 4cm

∠X, ∠Y ∠Z

https://dl.doubtnut.com/l/_b29jUikZ7MQ0


Level 2

Watch Video Solution

1.  


In the above figure,  and  If 

, then 

A. 

B. 

C. 

¯̄̄ ¯̄¯AF ∣∣∣∣̄ ¯̄¯̄¯ED, ¯̄̄ ¯̄¯CG∣∣∣∣̄ ¯̄̄ ¯̄AB ¯̄̄ ¯̄¯AE ∣ ∣ ¯̄̄ ¯̄̄ ¯HD

∠FPD = 40∘ ∠AED =

40∘

80∘

120∘

https://dl.doubtnut.com/l/_b29jUikZ7MQ0
https://dl.doubtnut.com/l/_zjYHTdoABqpX


D. 

Answer: D

Watch Video Solution

140∘

2.  


In the abve figure, DEF is a triangle whose side DF is produced to G. HF

https://dl.doubtnut.com/l/_zjYHTdoABqpX
https://dl.doubtnut.com/l/_XMqv42xWStKB


and HD are the bisectors of  and  respectively . If 

 and  ( in degrees) 

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

∠EFG ∠EDG

∠DEF = 23 . ∘1

2
∠DHF =

11
1

2

11
2

5

11
3

4

11
1

3

https://dl.doubtnut.com/l/_XMqv42xWStKB


3. 


In the above figure,  and  If 

, then 

A. 

B. 

C. 

D. 

Answer: b

EF ||AG, AB||CD ∣ ∣ FG AG ∣ ∣ BC.

∠EFG70∘ ∠BAG − ∠BCD =

70∘

40∘

80∘

110∘

https://dl.doubtnut.com/l/_ptrUooTd58is


View Text Solution

4. In the figure below,  and . If 

 and , then which of the

following options is correct ? 

A.  and 

B.  and 

C. Both (a) and (b)

D. None of these

Answer: b

¯̄̄ ¯̄¯AB∣∣∣∣̄ ¯̄̄ ¯̄FC, ¯̄̄ ¯̄¯AE∣∣∣∣̄ ¯̄̄ ¯̄BC ¯̄̄ ¯̄¯AF ∣ ∣ ¯̄¯̄¯̄BD

∠F = x ∘ , ∠C = γ ∘ , ∠EAB = k ∘ ∠ABD = p∘

x = k γ = p

x = p γ = k

https://dl.doubtnut.com/l/_ptrUooTd58is
https://dl.doubtnut.com/l/_624fsFZaAdns


Watch Video Solution

5. In the figure below, ABCD is a square , MDC is an equilateral triangle.

Find the value of x. 

A. 

B. 

C. 

D. 

75∘

90∘

105∘

60∘

https://dl.doubtnut.com/l/_624fsFZaAdns
https://dl.doubtnut.com/l/_7WuNsBkrOWsE


Answer: c

Watch Video Solution

6.  


In the above figure,  and  and CD are

bisectors of  and  respectively. Find the ,

if .

GH ∣ ∣ IJ AC ∣ ∣ BD, AB

∠EAH ∠FCJ ∠ABD + ∠BDC

∠BAC = 3∠BDC

https://dl.doubtnut.com/l/_7WuNsBkrOWsE
https://dl.doubtnut.com/l/_9WKpUo57hrzS


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

80∘

90∘

100∘

110∘

7. In a mombus PORS,the diagonals intersect at o Given that 

and  .What is the side of the mombus?

A. 4 cm

B. 6 cm

C.  cm

D. Cannot be determined

Answer: b

∠P = 120∘

OP = 3cm

3√3

https://dl.doubtnut.com/l/_9WKpUo57hrzS
https://dl.doubtnut.com/l/_L4Tte9I3JUvu


Watch Video Solution

8.  


In the figuare above ( not to scale),  is the angle bisector of

 and . If  and 

, then 

A. 

B. 

C. 

D. 

¯̄¯̄¯̄AD

∠EAF , ∠AFC = 110∘ ∠DCF = 20∘ ∠DAF = 30∘

∠EBD = 10∘ ∠AEB =

110∘

120∘

150∘

160∘

https://dl.doubtnut.com/l/_L4Tte9I3JUvu
https://dl.doubtnut.com/l/_QUcOIVnDbzqK


Answer: d

Watch Video Solution

9. In a rhombus ABCD, the diagonal intersect each other at O. If

 and  cm, then the side of the rhombus is 

A. 4cm

B.  cm

C.  cm

D. None of these

Answer: d

Watch Video Solution

∠A = 60∘ OA = 2

_______________

4√3

2√3

https://dl.doubtnut.com/l/_QUcOIVnDbzqK
https://dl.doubtnut.com/l/_2vuOt6cCWMlJ


10. In the figure below,  and . If 

 and , then which of the following is

necessarily true ? 

A. 

B. 

C. 

D. Cannot be determined

m||l||n ¯̄̄ ¯̄¯PT ∣ ∣ ¯̄¯̄̄ ¯QR

∠T UV = x, ∠QRS = γ ∠QV W = z

x > γ = z

x < γ = z

x = γ = z

https://dl.doubtnut.com/l/_gaXUlC8N9WLp


Answer: c

Watch Video Solution

11. A circle is passing through three vertices of a rhombus of side 8 cm

and its centre is the fourth gest diagonal of the rhombus ( in cm).

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

8√3

4√3

6√3

2√3

https://dl.doubtnut.com/l/_gaXUlC8N9WLp
https://dl.doubtnut.com/l/_QRUCPkW14mlI


12. Find the sum of the interior angles of the polygon gives below. 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

1080∘

1440∘

1800∘

900∘

https://dl.doubtnut.com/l/_qPQbs2gR8nge


13. 


In the above figure (not to scale) , O is the centre of the circle and

. If , then 

A. 

B. 

C. 

D. 

¯̄¯̄¯̄CD ∣ ∣ ¯̄̄ ¯̄¯AB ∠DAO = 20∘ ∠AOB =

110∘

130∘

100∘

120∘

https://dl.doubtnut.com/l/_Cqga05f42RUI


Answer: c

View Text Solution

14.  


In the given figure, ABCD and BECD are parallelograms, BCFD is a

rhombus. If  then which of the following are the angles of

the triangle AEF ?

A. 

B. 

C. 

∠DBC = 80∘ ,

60∘ , 70∘ , 50∘

60∘ , 60∘ , 60∘

50∘ , 40∘ , 90∘

https://dl.doubtnut.com/l/_Cqga05f42RUI
https://dl.doubtnut.com/l/_X6HbtFdny923


D. 

Answer: d

Watch Video Solution

50∘ , 50∘ , 80∘

15. The perpenidicular drawn from the centre of a circle bisects any chord

of the circle. The following are the steps involved in proving the above

result. Arrange them in sequential order. 

 


(A) Let  . 


(B) Let AB be the chord of the circle with centre O. 

¯̄¯̄¯̄OD ⊥ ¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_X6HbtFdny923
https://dl.doubtnut.com/l/_UiNOxDRx6f8o


(C )  ( By RHS congruence property). 


(D )  (radii),  ( common side) and 

 


(E )  ( corresponding parts in congurents triangles ).

A. BADCE

B. BCDAE

C. DBACDE

D. BDEAC

Answer: a

Watch Video Solution

ΔODA ≡ ΔODB

OA = OB OD = OD

∠ODA = ∠ODB = 90∘

AD = DB

16. In the adjacent figure ( not to scale), O is the centre of the circle and

. Find . 


The following sentences ae the steps involved in solving the above

problem. Arrange them in sequential order from the first to the last. 

∠OBA = 30∘ ∠ACB

https://dl.doubtnut.com/l/_UiNOxDRx6f8o
https://dl.doubtnut.com/l/_f2hdY7d26CwD


 


(A)  

 


(B) We known that  


(C ) Reflex  


(D )  (radii) .

A. ABCD

B. DCAB

C. DACB

D. DCA

∠OAB = 30∘ , ∠OBA = 30∘

⇒ ∠AOB = 180∘ − 30∘ − 30∘ = 120∘

∠ACD = = = 120∘Reflex ∠AOB

2
240∘

2

∠AOB = 240∘

OA = OB ⇒ ∠OBA = ∠OAB = 30∘

https://dl.doubtnut.com/l/_f2hdY7d26CwD


Answer: C

Watch Video Solution

17.  


In the given figure ,  and .

Find .

A. 

B. 

C. 

D. 

¯̄̄ ¯̄̄ ¯LM ∣ ∣ ¯̄¯̄¯̄NO, ∠QMR = 50∘ ∠RSO = 110∘

∠MRQ

60∘

70∘

80∘

50∘

https://dl.doubtnut.com/l/_f2hdY7d26CwD
https://dl.doubtnut.com/l/_zu3ynQMkqDET


Answer: A

Watch Video Solution

18.  


In the above figure,  and ACE is a straight line . I f

 and , then find .

A. 

B. 

C. 

¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄DE

∠ABC = 30∘ ∠CDE = 20∘ ∠BCD

40∘

50∘

60∘

https://dl.doubtnut.com/l/_zu3ynQMkqDET
https://dl.doubtnut.com/l/_SX9e1MZUteVa


D. 

Answer: B

Watch Video Solution

70∘

19.  


In the given figurs,  and 

. How many isoscles triangles are there in the given figure

?

∠BAC = 70∘ , ∠BCD = 80∘ , ∠EFC = 80∘

∠ABC = 60∘

https://dl.doubtnut.com/l/_SX9e1MZUteVa
https://dl.doubtnut.com/l/_A85fygJrMsOY


A. 1

B. 2

C. 3

D. 4

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_A85fygJrMsOY


20.  


In the figure, A,B,E,C and D are the points on the circle. If  and 

 , then find .

A. 

B. 

C. 

D. 

Answer: c

W h Vid S l i

AB = BE

∠ACB = 30∘ ∠ADE

50∘

45∘

60∘

80∘

https://dl.doubtnut.com/l/_TNRufN8fnMiP


Level 3

Watch Video Solution

1.  


In the above figure (not to scale ),  and  If 

 and , then find .

A. 

B. 

¯̄¯̄̄ ¯GF ∣∣∣∣̄ ¯̄¯̄¯BD, ¯̄̄B∣∣∣∣̄ ¯̄̄ ¯̄PQ ¯̄̄ ¯̄¯AC ∣ ∣ ¯̄̄ ¯̄¯PR

∠x = 40∘ ∠y = 110∘ ∠QPR

70∘

80∘

https://dl.doubtnut.com/l/_TNRufN8fnMiP
https://dl.doubtnut.com/l/_MzuQHCqD1uUM


C. 

D. None of these

Answer: a

Watch Video Solution

60∘

2.  In the

figure above ( not to scale),  and . If 

 and , then 

∠ABE = ∠ECD ∠EBD = ∠ACE

∠BAC = 80∘ ∠BEC = 100∘

∠BDC =  __________________

https://dl.doubtnut.com/l/_MzuQHCqD1uUM
https://dl.doubtnut.com/l/_YuLDyV87K75L


A. 

B. 

C. 

D. 

Answer: d

View Text Solution

80∘

100∘

110∘

120∘

3. In  and PO is the bisector of . If 

 and  then  in degrees 

A. 

B. 

C. 

D. 

Answer: a

ΔPQR, PD ⊥ QR ∠QPR

∠PQR = 65∘ ∠PRQ = 23 . ∘1

2
∠DPO =

20
3

4

20
1

2

20
1

5

20
1

4

https://dl.doubtnut.com/l/_YuLDyV87K75L
https://dl.doubtnut.com/l/_UKRgB70BZzab


Watch Video Solution

4. In a parallelogram PQRS, the bisectors of  and  meet on RS.If the

perimeter PQRS is 13.5 cm, then find the measure of QR

A. 4.5 cm

B. 2.25 cm

C. 3 cm

D. 3.75cm

Answer: b

Watch Video Solution

∠P ∠Q

https://dl.doubtnut.com/l/_UKRgB70BZzab
https://dl.doubtnut.com/l/_vKb5xqQuGaRX


5.  


In the above figure , O is the centre of the circle, AB and CD are diameters.

 . If E is the midpoint of AF, then find 

A. 

B. 

C. 

D. 

Answer: a

∠COB = 50∘ = 50∘ ∠ADF

130∘

100∘

110∘

120∘

https://dl.doubtnut.com/l/_boBXg53KfDU5


Watch Video Solution

6.  


In the figure above (not to scale), ABCDE is symmetrical about AF. If

 and , then find the .

A. 

∠C = 90∘ ∠BAF = 45∘ ∠E

90∘

https://dl.doubtnut.com/l/_boBXg53KfDU5
https://dl.doubtnut.com/l/_XaUityDmigfv


B. 

C. 

D. Cannot say

Answer: c

Watch Video Solution

105∘

135∘

7.  


In the given figure, PQRS is an isosceles trapezium and  If 

 and , then find 

¯̄¯̄̄ ¯PQ∣∣∣∣̄ ¯̄¯̄SR∣∣∣∣̄ ¯̄̄ ¯̄̄ ¯MN

∠SPM = 70∘ ∠PQR = 110∘ ∠PMN.

https://dl.doubtnut.com/l/_XaUityDmigfv
https://dl.doubtnut.com/l/_7wa468lNF1VV


TEST YOUR CONCEPTS ( VERY SHORT ANSWER TYPE QUESTIONS)

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

140∘

150∘

120∘

100∘

https://dl.doubtnut.com/l/_7wa468lNF1VV


1.  

In the above figure (not to scale ) ,  such that 

 . Find .

View Text Solution

l||m, l1||m1, and p ∣ ∣ q

∠1 = 90∘ , ∠2 = 130∘ , and ∠ = 70∘ ∠4

https://dl.doubtnut.com/l/_CHg9NBip6VTK


2.  


In the above figure (not to scale) ,  and . If 

 and  find the following . 

(i)  (ii)  

(iii) 

Watch Video Solution

AB ∣ ∣ DE EC ∣ ∣ GF

∠EGF = 100∘ ∠ECF = 40∘ ,

∠ABC ∠GFC

∠GDF

https://dl.doubtnut.com/l/_KiiKj8zcV3qT


3. Which of the letters of the English alphabet have only one line of

symmetry ?

Watch Video Solution

4. The angle whose supplement is three times its complement is

.

Watch Video Solution

____________________

5. In , if , then ABC is a/an _______ triangle .

Watch Video Solution

ΔABC ∠A < ∠B < 45∘

6. In , if , then ________.

View Text Solution

ΔABC ∠A = ∠A = 80∘ and AB = AC ∠B =

https://dl.doubtnut.com/l/_oOhYAFckWMpx
https://dl.doubtnut.com/l/_zvgJaIPh632h
https://dl.doubtnut.com/l/_ViA1MY2Sb7gy
https://dl.doubtnut.com/l/_UUJtf9DuB3G9
https://dl.doubtnut.com/l/_94dMbuuhWK7P


7. In  .the longest side of  is ______ .

Watch Video Solution

ΔABC, ∠A = ∠C = 50∘ ΔABC

8. If G is the centroid of , then the area of  is 

 times the area of quadrilateral ABCG.

Watch Video Solution

ΔABC ΔBGC

_______________

9. ABCD is a quadrilateral in which 

and . The number of pairs of parallel lines is 

.

Watch Video Solution

∠A = 60∘ , ∠B = 70∘ , ∠C = 110∘

∠D = 120∘

________________

10. Which of the following digits have two lines of symmetry ? 

W h Vid S l i

0, 1, 2, 3, 4, 5, 6, 7, 8, 9

https://dl.doubtnut.com/l/_94dMbuuhWK7P
https://dl.doubtnut.com/l/_Um41TxAMYA61
https://dl.doubtnut.com/l/_26yNm37VroTt
https://dl.doubtnut.com/l/_pCbo91h5DGys


Watch Video Solution

11.  


In the above figure ( not to scale ) the sides BA,BC and CA of  are

produced to D,F, and E respectively such that  and 

. Then .

Watch Video Solution

ΔABC

∠ACF = 120∘

∠BAE = 150∘ ∠ABC =_ __ __

https://dl.doubtnut.com/l/_pCbo91h5DGys
https://dl.doubtnut.com/l/_uJAezbFjn8h4


12.  

In the figure , if AB =CD and  , then the triangles ABC

and DCB are congruent . True or false.

Watch Video Solution

∠DCB = ∠ABC

13. If all the sides of a polygon ABCDE are equal, then  ( Yes 

No  May or May not be )

Watch Video Solution

∠A = ∠C. /

/

https://dl.doubtnut.com/l/_1pJovjqJV6cZ
https://dl.doubtnut.com/l/_DCFoN2x9taQZ


14.  

In the above figure ,  intersect at E such that BE =EC , 

. If  , then find 

.

Watch Video Solution

¯̄̄ ¯̄¯AC and ¯̄¯̄¯̄BD

∠ABE = 70∘ and ∠DCE = 80∘ ∠BAC = ∠CDE
3

2

∠BEC

15. The chords which are equidistant from the centre of a circle are equal

only if they are parallel to each other. [True  False ]

Watch Video Solution

/

https://dl.doubtnut.com/l/_7eiQjHNEn6Yh
https://dl.doubtnut.com/l/_DhGyFqpj2o7T


16. In the figure below,  is the diameter of the circle with centre O. 

 bisects the . If , then find . 


Watch Video Solution

¯̄̄ ¯̄̄ ¯̄MN

¯̄¯̄¯̄NP ∠ANM ∠NMA = 33∘ ∠ANP

https://dl.doubtnut.com/l/_nH5RAfmQoVNG


17.  


In the above figure, O is the centre of the circle AB,AD and CD are the

chords . If  then fid .

Watch Video Solution

∠ADC = 130∘ ∠ACB

https://dl.doubtnut.com/l/_rKs32O28quM3


18.  


In the given figure, AB is the diameter and . If 

, then find the angle made by AC at the centre of the circle.

Watch Video Solution

∠ADC = 2∠BDC

∠BCD = 70∘

19. The distances of two chords AB and CD from the centre of a circle are

6 cm and 8 cm respectively. Then, which chord is longer?

Watch Video Solution

https://dl.doubtnut.com/l/_xE86HVDtLR8d
https://dl.doubtnut.com/l/_wFN0YgJYwg1R


20. If three equal chords meet at three distinct points on the circle , then

the angle between any two chords is ______.

Watch Video Solution

21. In the following figure , if  , then  . 


Watch Video Solution

∠AOB = 60∘ ∠ACB = 30∘

https://dl.doubtnut.com/l/_C9ogO1BIWzau
https://dl.doubtnut.com/l/_zfJjEKW0XSLW
https://dl.doubtnut.com/l/_gm2zsbduex6y


22. If the diagonals of a cyclic quadrilateral intersect at the centre of a

circle , then the quadrilateral is .

Watch Video Solution

_______________

23. If two equal chords bisect each other, then the point of intersection of

the chords coincides with their centre. [True  False]

Watch Video Solution

/

24. PS is the chord of the circle with centre O. A perpendicular is drawn

from centre O of the circle to chord PS at M. If  and 

, then find the radius of the circle.

Watch Video Solution

¯̄¯̄¯PS = 30cm

¯̄¯̄¯̄¯OM = 8cm

25. The radius of a circle is 10cm. The length of a chord is 12 cm. Then the

distance of the chord from the centre is .__________________

https://dl.doubtnut.com/l/_gm2zsbduex6y
https://dl.doubtnut.com/l/_xbcVxGdaZOzB
https://dl.doubtnut.com/l/_TuA0kMXo2s0Y
https://dl.doubtnut.com/l/_Mo3TZQ2ZUB7e


TEST YOUR CONCEPTS ( SHORT ANSWER TYPE QUESTIONS)

Watch Video Solution

26. In a circle , chord AB subtends an angle of  at the centre and chord

CD subtends , at it. Then which chord is longer ?

Watch Video Solution

60∘

120∘

27. A line which bisects the diameter of a circle is perpendicular to the

diameter. [True  False]

Watch Video Solution

/

28. AB and CD are equal and parallel chords of a circle with centre O. Then

AC passes through the centre O. [Agree  Disagree]

Watch Video Solution

/

https://dl.doubtnut.com/l/_Mo3TZQ2ZUB7e
https://dl.doubtnut.com/l/_lz2l4gUhtzpC
https://dl.doubtnut.com/l/_z10Z6wxrKukM
https://dl.doubtnut.com/l/_wQ2MaM10NRPl


1.  


In the above figure, AB is parallel to CD. P and R are the points on AB and

CD respectively. Q is in between AB and CD. Find the value of x in degrees

Watch Video Solution

2. In the figure below ( not to scale), ABC is a straight line. If

 and ∠FBE = 60∘ , ∠CBG = 120∘ , ∠ABG = x ∘ , ∠ABF = gamm ∘

https://dl.doubtnut.com/l/_cMr9wRbKBxbh
https://dl.doubtnut.com/l/_IbTxlQmnlFQj


, then  is 


Watch Video Solution

∠CBE = z ∘ = 2γ ∘ (x ∘ + z ∘ ) : γ ∘

3. In the figure below , . If  is the transversal , 

 , then the ratio of the supplement of y

to its complement is _______. 

¯̄̄ ¯̄¯EF ∣ ∣ ¯̄̄ ¯̄̄ ¯GH ¯̄̄ ¯̄GI

∠IGH = y ∘ , and ∠FIG = 3y ∘

https://dl.doubtnut.com/l/_IbTxlQmnlFQj
https://dl.doubtnut.com/l/_teKpCCJTzSCp


Watch Video Solution

4. In the figure below ( not to scale)

 and 

. is 

Watch Video Solution

¯̄¯̄¯̄CD ∣ ∣ ¯̄¯̄¯RS∠EMG = 90∘ , ∠GMD = γ ∘ , ∠CME = x ∘

γ ∘ =
x ∘

2
∠FNS : ∠FNR

https://dl.doubtnut.com/l/_teKpCCJTzSCp
https://dl.doubtnut.com/l/_pNssT4zVJmlS


5.  

In the above figure (not to scale) , . If 

, then _______.

Watch Video Solution

¯̄̄ ¯̄¯AB∣∣∣∣̄ ¯̄¯̄¯CD and ¯̄̄ ¯̄¯AC∣∣∣∣̄ ¯̄¯̄¯BD

∠BAC = 40∘ and ∠CBD = 70∘ ∠BCD =

https://dl.doubtnut.com/l/_aX8ldjcigOOD


6.  


In the above figure , DF is parallel to MN . EGH is an isosceles triangle ,

where . If EM and EN are the bisectors of

the  , then 

(i) Show that . 

(ii) Show that .

Watch Video Solution

EG = EH and ∠GEH = 50∘

∠DEG and ∠FEH

∠DEM = ∠FEN

∠GEM = ∠HEN

https://dl.doubtnut.com/l/_HicijPhacdqy


7.  


In the above  ( not to scale ), OA is the angle bisector of  .

If  and . If 

then find 

Watch Video Solution

ΔABC ∠BAC

OB = OC, ∠OAC = 40∘ ∠ABO = 20∘ ∠OCB = ∠ACO,
1

2

∠BOC.

https://dl.doubtnut.com/l/_d5Sl5pqycGBR


8.  


In the given figure , AB and DE are straight lines .

. Find .

Watch Video Solution

∠BAC = 40∘ , ∠BPD = 110∘ , and ∠DEC = 40∘ ∠ACE

https://dl.doubtnut.com/l/_vnmGvXAWU0Sg


9. In the following figure ,ABCD is a parallelogram . Find the value of r . 

View Text Solution

10. The angles of a quadrilateral ABCD are  and 

, taken in the same order. Then the quadrilateral ABCD is

necessarily a

Watch Video Solution

x ∘ , (x + 1) ∘ , (x + 2) ∘

(x + 3) ∘

11. MN and PS are two euqal chords of a circle drawn on either side of

centre O of the circle .Both the chords are produced to meet at point A . If

https://dl.doubtnut.com/l/_3f1DkEPKgrWB
https://dl.doubtnut.com/l/_qCkVsEq9r6cG
https://dl.doubtnut.com/l/_aI1QSt0Y9kan


the radius of the circle is 10 cm , MN =12 cm , and OA =17 cm , then find NA.

View Text Solution

12.  


In the figure above (not to scale), AB is the diameter of the circle with

centre O. If  then find .

Watch Video Solution

∠ACO = 30∘ , ∠BOC

https://dl.doubtnut.com/l/_aI1QSt0Y9kan
https://dl.doubtnut.com/l/_bd16KnBVZN9Y


13.  


In the figure (not to scale ), O is the centre of the circle and

. Find 

Watch Video Solution

∠OBA = 30∘ ∠ACB

https://dl.doubtnut.com/l/_ZcH6eMbDiwXg


14.  

In the figure above (not to scale ), AB= AC and . Find 

, if O is the centre of the circle .

Watch Video Solution

∠BAO = 25∘

∠BOC

https://dl.doubtnut.com/l/_T2Vr8OcYckm5


TEST YOUR CONCEPTS (ESSAY TYPE QUESTIONS)

15.  

In the above figure (not to scale), O is the centre of the circle AC and OB

are parallel lines .If  , then find  .

Watch Video Solution

∠ACO = 80∘ ∠ADO

https://dl.doubtnut.com/l/_1rSCo26M468y


1.  

In the figure above (not to scale ) , . If 

, find  .

Watch Video Solution

¯̄̄ ¯̄¯PE∣∣∣∣̄ ¯̄̄ ¯̄BE and ¯̄̄ ¯̄¯AB∣∣∣∣̄ ¯̄¯̄¯CD

∠FDC = 130∘ and ∠ACD = 20∘ ∠ACB and ∠ABC

2. In the given below ,PQRS is a square and STR is an euilateral triangle .

Find the value of a . 

https://dl.doubtnut.com/l/_m5rWl9MOjFu4
https://dl.doubtnut.com/l/_HcbNGJ6UaLxO


Watch Video Solution

3. In the figure below, CD is a chord of the semi circle with centre O. 

 OA is the

https://dl.doubtnut.com/l/_HcbNGJ6UaLxO
https://dl.doubtnut.com/l/_EuEwyoqNshvM


radius of the circle. If  cm,  cm and  the

length of OB is 

Watch Video Solution

CD = 10 AB = 2 ¯̄̄ ¯̄¯OA ⊥ ¯̄¯̄¯̄CD

_____________

4. In the figure below (not to scale), PQ=PR=8cm and O is the centre of the

circle . If each of the chords PQ and PR makes an angle of  at the

centre of the circle , then find the area of the shaded region . 

View Text Solution

120∘

https://dl.doubtnut.com/l/_EuEwyoqNshvM
https://dl.doubtnut.com/l/_g2RScwt2fF13


CONCEPT APPLICATION (Level 1)

5.  


In the figure above (not to scale) ,  are the secants of three

circles . Then , which of the following are necessarily true ?

A. 

B. 

C. 

D. 

Answer: Only (c ) and (d)

View Text Solution

¯̄¯̄¯̄XY and ¯̄¯̄̄ ¯PQ

¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄CD

¯̄̄ ¯̄¯EF ∣ ∣ ¯̄̄ ¯̄̄ ¯GH

¯̄̄ ¯̄¯AB ∣ ∣ ¯̄̄ ¯̄¯EF

¯̄¯̄¯̄CD ∣ ∣ ¯̄̄ ¯̄̄ ¯GH

https://dl.doubtnut.com/l/_IELTfyHII61s


1. In the figure below (not to scale) , , reflex 

and . The measure of  will be 


A. 

B. 

C. 

D. `30^(@)

Answer: B

Watch Video Solution

¯̄¯̄̄ ¯PQ ∣ ∣ ¯̄¯̄¯T S ∠QRS = 300∘

x − y = 30∘ y

25∘

15∘

20∘

https://dl.doubtnut.com/l/_nwtxq00yQ0FU


2. In a triangle ABC, if  and the measures of 

and  in degrees are integers, then the least possible value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∠A > ∠B > ∠C ∠A, ∠B

∠C ∠A

70∘

65∘

60∘

61∘

https://dl.doubtnut.com/l/_7hEhEYMx5GZ6


3.  


In the above figure,  and  .

What is the value of  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∠ABD = 20∘ , ∠BDC = 110∘ ∠DCA = 30∘

∠BAC

30∘

60∘

90∘

120∘

https://dl.doubtnut.com/l/_axoJwFJVmFTs
https://dl.doubtnut.com/l/_dfMCdd3pB7VJ


4. In the figure below (not to scale), , and  is

bisector of  . If  , then find the measure of .

A. 

B. 

C. 

¯̄¯̄¯̄¯MR ⊥ ¯̄¯̄̄ ¯̄MP , ¯̄¯̄¯̄¯MQ ⊥ ¯̄̄ ¯̄̄ ¯̄MN ¯̄̄ ¯̄̄ ¯MS

∠RMQ ∠PMN = 50∘ ∠RMS

25∘

20∘

30∘

https://dl.doubtnut.com/l/_dfMCdd3pB7VJ


D. 

Answer: A

Watch Video Solution

35∘

5.  


In the figure above (not to scale ) ,

. if 

 , then find .

A. 

B. 

¯̄̄ ¯̄¯EF ∣∣∣∣̄ ¯̄¯̄¯GD, ¯̄̄ ¯̄¯AF ∣∣∣∣̄ ¯̄̄ ¯̄EG, ¯̄¯̄¯̄AD ∣ ∣ ¯̄̄ ¯̄¯BC, and ∠DCG = 100∘

∠CDG = 40∘ ∠AEF

30∘

40∘

https://dl.doubtnut.com/l/_dfMCdd3pB7VJ
https://dl.doubtnut.com/l/_slohreSYYRek


C. 

D. 

Answer: B

Watch Video Solution

150∘

60∘

6. In the figure below,  and . Which of

the following congurency axiom(s) is  are suitable to prove that 

¯̄̄ ¯̄¯BC ∣ ∣ ¯̄̄ ¯̄¯EF , BC = EF DF = AC

/

https://dl.doubtnut.com/l/_slohreSYYRek
https://dl.doubtnut.com/l/_vL3qdNLgAouO


 ? 

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

ΔBCA = ΔEFD

S. S. S

S. A. S

R. H. S

A. S. A

https://dl.doubtnut.com/l/_vL3qdNLgAouO


7.  


In the above figure (not to scale), E and F are the mid points of AB and CD

respectively. 

, AND  is

A. 

B. 

C. 

D. 

Answer: C

¯̄̄ ¯̄¯AB∣∣∣∣̄ ¯̄¯̄¯CD, ¯̄̄ ¯̄¯BC∣∣∣∣̄ ¯̄̄ ¯̄AD, ∠ADE = 70∘ ∠BCE = 40∘ , ∠DEC

70∘

40∘

110∘

120∘

https://dl.doubtnut.com/l/_vL3qdNLgAouO
https://dl.doubtnut.com/l/_u2hK97jkZlUz


Watch Video Solution

8. What is the number of lines of symmetry for a parallelogram ?

A. 2

B. 4

C. 0

D. 6

Answer: C

Watch Video Solution

9. Given below are some figures. Choose the image of the given figure to

have symmitrical image with respect to the given choices. 

https://dl.doubtnut.com/l/_u2hK97jkZlUz
https://dl.doubtnut.com/l/_8yFNZjF5GBKf
https://dl.doubtnut.com/l/_FpVMuHXLt7aa


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10. In the given figure , PQ and RS are chords of length 10 cm each

intersecting at B . If  the area of  is 32  ,∠PBS = 90∘ and ΔPBS cm2

https://dl.doubtnut.com/l/_FpVMuHXLt7aa
https://dl.doubtnut.com/l/_QxcE5ihv11On


then the length of BR is ________ . 

A. 2 cm

B. 4 cm

C. 6 cm

D. 8 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_QxcE5ihv11On


11.  


In the above figure (not to scale), O is the centre of the circle.  and 

 are equal chords. If  , then find .

A. 

B. 

C. 

D. 

¯̄̄ ¯̄¯BC

¯̄¯̄¯̄CD ∠OBC = 70∘ ∠BAD

40∘

60∘

55∘

45∘

https://dl.doubtnut.com/l/_QxcE5ihv11On
https://dl.doubtnut.com/l/_Hs7uZ0pPwheM


Answer: A

Watch Video Solution

12.  


In the above figure (not to scale), O is the centre of the circle.  and 

 are two chords. C is the point of intersection of  and . If 

 and , then 

A. 

B. 

¯̄̄ ¯̄¯AP

¯̄̄ ¯̄¯BP ¯̄̄ ¯̄¯AP ¯̄̄ ¯̄¯OB

∠OAC = 30∘ ∠PBC = 80∘ ∠AOB =

110∘

100∘

https://dl.doubtnut.com/l/_Hs7uZ0pPwheM
https://dl.doubtnut.com/l/_72fODigC9cTH


C. 

D. 

Answer: B

Watch Video Solution

30∘

120∘

13.  

In the above figure ,  are equal chords and  is¯̄̄ ¯̄¯AB and ¯̄̄ ¯̄¯AC ¯̄¯̄¯̄OD

https://dl.doubtnut.com/l/_72fODigC9cTH
https://dl.doubtnut.com/l/_D4misYExt35y


perpendicular to  . If , then the angle between the

chords is ______ .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄̄ ¯̄¯AC ∠COD = 60∘

30∘

60∘

90∘

45∘

https://dl.doubtnut.com/l/_D4misYExt35y


14.  


In the above figure, O is the centre of the circle and . If 

, then find the angle made by the chord CD at the centre.

A. 

B. 

C. 

D. 

Answer: D

AB = CD

∠APB = 110∘

220∘

110∘

120∘

140∘

https://dl.doubtnut.com/l/_HgwQgGnH1qMu


Watch Video Solution

15.  


In the above diagram (not to scale), . O is the centre of the

circle. If , then 

A. 

B. 

C. 

D. 

AB = AC =

∠ABC = 80∘ ∠BOC =

20∘

40∘

60∘

80∘

https://dl.doubtnut.com/l/_HgwQgGnH1qMu
https://dl.doubtnut.com/l/_UuIJrUc2aCl9


Answer: B

Watch Video Solution

16.  


In the figure above (not to scale),  and . 

A. 

B. 

AB = CD ∠A = 100∘ ∠C =

100∘

120∘

https://dl.doubtnut.com/l/_UuIJrUc2aCl9
https://dl.doubtnut.com/l/_3D2USvLOCxWR


C. 

D. 

Answer: A

Watch Video Solution

80∘

40∘

17.  


In the above figure, ABCD is a cyclic quadrilateral and .

Find the angle made by the diagonal BD at the centre of the circle.

∠BCD = 2∠BAD

https://dl.doubtnut.com/l/_3D2USvLOCxWR
https://dl.doubtnut.com/l/_Q38YfSZosCsu


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘

80∘

100∘

120∘

18. In the below figure , one part of the line of symmetry is given .

Recognise the second part . 

https://dl.doubtnut.com/l/_Q38YfSZosCsu
https://dl.doubtnut.com/l/_H9y0Iv0jxPWz


https://dl.doubtnut.com/l/_H9y0Iv0jxPWz


A. 

B. 

https://dl.doubtnut.com/l/_H9y0Iv0jxPWz


C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_H9y0Iv0jxPWz


19.  

In the above figure , AB and CD are equal chords and O is the centre of

the circle . If , then  ______ .

A. 

B. 

C. 

D. 

∠OPB = 50∘ ∠PBC =

30∘

40∘

50∘

60∘

https://dl.doubtnut.com/l/_H9y0Iv0jxPWz
https://dl.doubtnut.com/l/_jh6UitETJ0Kd


Answer: B

View Text Solution

20.  


In the given figure , . If  ,

then the angle made by AB at the centre of the circle is _______.

∠DBA = 2∠DAB = 4∠CAD ∠ADC = 120∘

https://dl.doubtnut.com/l/_jh6UitETJ0Kd
https://dl.doubtnut.com/l/_uXVNwxqCfBGY


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

20∘

40∘

60∘

80∘

21. In the given figure (not to scale ) , O is the centre of the circle . A ,B,C

and D are conyclic and AB =CD . If  , then find  . 
∠MON = 120∘ ∠OPN

https://dl.doubtnut.com/l/_uXVNwxqCfBGY
https://dl.doubtnut.com/l/_z4lZSQ9UFX24


A. 

B. 

C. 

20∘

30∘

40∘

https://dl.doubtnut.com/l/_z4lZSQ9UFX24


D. 

Answer: B

Watch Video Solution

60∘

22. In the following figure ( not to scale), 

and . Find . 

A. 

∠ADC = 60∘ , ∠BAD = 80∘

∠EBC = 2∠PDE ∠APE

60∘

https://dl.doubtnut.com/l/_z4lZSQ9UFX24
https://dl.doubtnut.com/l/_eL2gWao62L4p


B. 

C. 

D. 

Answer: C

Watch Video Solution

80∘

120∘

140∘

23. In the following figure , the two circles with centres P and Q are

congruent.

https://dl.doubtnut.com/l/_eL2gWao62L4p
https://dl.doubtnut.com/l/_nmMWQm25utO3





How many lines of symmetry does the above figure have ?

A. 2

B. 3

C. 1

D. 0

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nmMWQm25utO3


24.  

In the above figure (not to scale)  are

chords of the circle . If  , then 

 _______.

A. 

B. 

C. 

D. 

¯̄̄ ¯̄¯AB, ¯̄̄ ¯̄¯BC, ¯̄̄ ¯̄¯CF , ¯̄¯̄¯̄DE, and ¯̄̄ ¯̄¯FE

∠ABC = 100∘ and ∠FED = 110∘

∠FPA =

20∘

30∘

40∘

70∘

https://dl.doubtnut.com/l/_Fx1nM5dK1CQm


Answer: B

View Text Solution

25. In the figure given below , . If 

 , then the angle made by  at the

centre is _______. 

A. 

¯̄¯̄¯̄ED∣∣∣∣̄ ¯̄̄ ¯̄AB and ¯̄̄ ¯̄¯EF ∣∣∣∣̄ ¯̄̄ ¯̄BC

∠FED = 40∘ and ∠DEC = 20∘ ¯̄̄ ¯̄¯BC

20∘

https://dl.doubtnut.com/l/_Fx1nM5dK1CQm
https://dl.doubtnut.com/l/_PtKwokZduOrw


B. 

C. 

D. 

Answer: B

Watch Video Solution

40∘

60∘

80∘

26. The supplement of an angle and the complement of another have a

sum equal to half of a complete angle. If the greater angle is  more

than the smaller , find the smaller angle.

A. 

B. 

C. 

D. 

Answer: A

10∘

40∘

35∘

45∘

30∘

https://dl.doubtnut.com/l/_PtKwokZduOrw
https://dl.doubtnut.com/l/_EcQYcbM7Sglr


Watch Video Solution

27. ABCD is a trapezium in which 

cm,  cm and  cm . Find 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AB ∣ ∣ CD, AB = 20cm, BC = 10

CD = 10 AD = 10 ∠ADC

80∘

100∘

120∘

140∘

28. P is an interior point of quadrilateral ABCD and cm, 

 and  cm . Then which of the

following can be the possible value of  ?

AB = 3.5

BC = 4cm, CD = 4.8cm AD = 3.7

(AP + BP + CP + DP )

https://dl.doubtnut.com/l/_EcQYcbM7Sglr
https://dl.doubtnut.com/l/_NV9IZYAPVhG2
https://dl.doubtnut.com/l/_DiYfRN7XW5kS


A. 

B. 8 cm

C. 

D. 

Answer: C

Watch Video Solution

7.9cm

8.1cm

6.4cm

29. In the following figure (not to scale ), two chords XY and PQ are

intersecting at the point A . The line segment joining X and P is a

diameter of the circle ,  . Find∠XAP = 120∘ and XU = PQ = 18cm

https://dl.doubtnut.com/l/_DiYfRN7XW5kS
https://dl.doubtnut.com/l/_nC9dXtppVbA4


the distance between the centre of the circle and the point A . 

A. 3 cm

B. 4 cm

C. 8 cm

D. 6 cm

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nC9dXtppVbA4


30. The angles of a triangle are in the ratio  . Find them 


The following are the steps involved in solving the above problem. 

Arrange them in sequential order from the first to the last. 

(A)  


 


(B) Let the angles be A,B and C. Given  


 


(C ) We know that the sumf of the angles of a triangle is

 


(D) The angles are  and 

.

A. BCAD

B. CBDA

C. BACD

D. BDCA

Answer: A

2: 3: 4

2x + 3x + 4x = 180∘

⇒ 9x = 180∘ ⇒ x = 20∘

A : B : C = 2: 3: 4

⇒ A = 2x, B = 3x = C = 4x

180∘ , ie. , A + B + C = 180∘

: A = 2(20∘ ) = 40∘ , B = 3(20∘ ) = 60∘

C = 4(20∘ ) = 80∘

https://dl.doubtnut.com/l/_oFpXMRjRQtuZ


Watch Video Solution

31. Prove that each of the following diagonals of a parallelogram divides it

into two congurent triangles. The following lowing are the steps involved

in proving the above results. Arrange them in sequential order. 

 


(A) By SSS conguruence property , . 


(B) Let ABCD be a parallelogram and join BD. 

(C ) (opposite sides of parallelogram) and 

 (common side). 


(D ) Similarly , AC divides the parallelogram into two congruent triangles.

A. ABCD

ΔDAB ≅ΔBCD

AB = CD, AD = BC

BD = BD

https://dl.doubtnut.com/l/_oFpXMRjRQtuZ
https://dl.doubtnut.com/l/_M8WK8vwgmFyG


B. BCAD

C. BACD

D. CBAD

Answer: B

Watch Video Solution

32.  


In a rhombus BEST,if  and , then find the length of∠B = 60∘ BT = 6cm

https://dl.doubtnut.com/l/_M8WK8vwgmFyG
https://dl.doubtnut.com/l/_xaAEVy8pZl1h


the diagonal TE. 

The following are the steps involved in solving the above problem.

Arrange them in sequential order. 

(A)  BTE is an equilateral triangle. 


(B) Join T and E 

(C ) In

. 

(D) cm

A. BCAD

B. BCDA

C. BACD

D. BADC

Answer: A

Watch Video Solution

⇒ Δ

ΔBET , BT = BE ⇒ ∠BT E = ∠BET = = 60∘ ( ∵ ∠B = 6
180∘ − 60∘

2

T E = 6

https://dl.doubtnut.com/l/_xaAEVy8pZl1h


33. The following sentences are the steps involved in construction of the

incircle for the triangle XYZ in which  cm and 

 cm. 


Arrange them in sequential order from the first to the last. 

(A) Mark the foot of the perpendicular from I onto YZ as D. 

(B) Construct the triangle XYZ with  cm and 

. 


(C ) Draw a circle with I as the centre and ID as radius. This is the required

incircle. 

(D) Draw the bisectors of  and  and mark their point of

concurrence as I.

A. BDCA

B. DBAC

C. DBCA

D. BDAC.

Answer: D

∠Y = 90∘ , XZ = 6

Y Z = 4

∠Y = 90∘ , XZ = 6

Y Z = 4cm

∠X, ∠Y ∠Z

https://dl.doubtnut.com/l/_hW56b8NRqIZ2


Watch Video Solution

34.  


In the above figure,  and  If 

, then 

A. 

B. 

C. 

D. 

¯̄̄ ¯̄¯AF ∣∣∣∣̄ ¯̄¯̄¯ED, ¯̄̄ ¯̄¯CG∣∣∣∣̄ ¯̄̄ ¯̄AB ¯̄̄ ¯̄¯AE ∣ ∣ ¯̄̄ ¯̄̄ ¯HD

∠FPD = 40∘ ∠AED =

40∘

80∘

120∘

140∘

https://dl.doubtnut.com/l/_hW56b8NRqIZ2
https://dl.doubtnut.com/l/_GobOFqN429q9


Answer: D

Watch Video Solution

35.  

In the above figure , DEF is a triangle whose side DF is produced to G .HF

and HD are the bisectors of  , respectively . If 

 , then  (in degrees) = _______.

∠EFG and ∠EDG

∠DEF = 23
1

(2) ∘ ∠DHF

https://dl.doubtnut.com/l/_GobOFqN429q9
https://dl.doubtnut.com/l/_TR5rUGx7mhac


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

11
1

2

11
2

5

11
3

4

11
1

3

https://dl.doubtnut.com/l/_TR5rUGx7mhac


36.  


In the above figure , . If

, then _____.

A. 

B. 

C. 

D. 

Answer: B

EF ||AG, AB||CD||FG, and AG||BC

∠EFG = 70∘ ∠BAG − ∠BCD =

70∘

40∘

80∘

110∘

https://dl.doubtnut.com/l/_6SovTUl5C2FA


View Text Solution

37. In the figure below,  and . If 

 and , then which of the

following options is correct ? 

A. 

B. 

C. 

D. Connot be determined

Answer: B

¯̄̄ ¯̄¯AB∣∣∣∣̄ ¯̄̄ ¯̄FC, ¯̄̄ ¯̄¯AE∣∣∣∣̄ ¯̄̄ ¯̄BC ¯̄̄ ¯̄¯AF ∣ ∣ ¯̄¯̄¯̄BD

∠F = x ∘ , ∠C = γ ∘ , ∠EAB = k ∘ ∠ABD = p∘

x = k and y = p

x = p and y = k

x = 0 and y = 0

https://dl.doubtnut.com/l/_6SovTUl5C2FA
https://dl.doubtnut.com/l/_95TvCrZpjjiF


Watch Video Solution

38. In the figure below, ABCD is a square , MDC is an equilateral triangle.

Find the value of x. 

A. 

B. 

C. 

D. 

75∘

90∘

105∘

60∘

https://dl.doubtnut.com/l/_95TvCrZpjjiF
https://dl.doubtnut.com/l/_ISNY8SWMQvAa


Answer: C

Watch Video Solution

39.  


In the above figure,  and  and CD are

bisectors of  and  respectively. Find the ,

if .

GH ∣ ∣ IJ AC ∣ ∣ BD, AB

∠EAH ∠FCJ ∠ABD + ∠BDC

∠BAC = 3∠BDC

https://dl.doubtnut.com/l/_ISNY8SWMQvAa
https://dl.doubtnut.com/l/_eLX6Y2Eu0R3B


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

80∘

90∘

100∘

110∘

40. In a mombus PORS,the diagonals intersect at o Given that

 and  .What is the side of the mombus?

A. 4 cm

B. 6 cm

C. 

D. 5 cm

Answer: B

∠P = 120∘ OP = 3cm

3√3cm

https://dl.doubtnut.com/l/_eLX6Y2Eu0R3B
https://dl.doubtnut.com/l/_Z8LFcohF6vTN


Watch Video Solution

41.  


In the figuare above ( not to scale),  is the angle bisector of

 and . If  and 

, then 

A. 

B. 

C. 

D. 

¯̄¯̄¯̄AD

∠EAF , ∠AFC = 110∘ ∠DCF = 20∘ ∠DAF = 30∘

∠EBD = 10∘ ∠AEB =

110∘

120∘

50∘

160∘

https://dl.doubtnut.com/l/_Z8LFcohF6vTN
https://dl.doubtnut.com/l/_mV5nZzMAv0pm


Answer: D

Watch Video Solution

42. In a rhombus ABCD, the diagonal intersect each other at O. If

 and  cm, then the side of the rhombus is 

A. 4 cm

B. 

C. 

D. 

Answer: D

Watch Video Solution

∠A = 60∘ OA = 2

_______________

4√3cm

2√3cm

√3

https://dl.doubtnut.com/l/_mV5nZzMAv0pm
https://dl.doubtnut.com/l/_5JNx1bDF1h1B


43. In the figure below,  and . If 

 and , then which of the following is

necessarily true ? 

A. 

B. 

C. 

D. 

m||l||n ¯̄̄ ¯̄¯PT ∣ ∣ ¯̄¯̄̄ ¯QR

∠T UV = x, ∠QRS = γ ∠QV W = z

x > y = z

x < y = z

x = y = z

x = y > z

https://dl.doubtnut.com/l/_FRECG5m9soDe


Answer: C

Watch Video Solution

44. A circle is passing through three vertices of a rhombus of side 8 cm

and its centre is the fourth vertex of the thombus .Find the length of the

longest diagonal of the rhombus (in cm) .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8√3

4√3

6√3

2√3

https://dl.doubtnut.com/l/_FRECG5m9soDe
https://dl.doubtnut.com/l/_ujVIvciB27Sx


45. Find the sum of the interior angles of the polygon given below . 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1080∘

1440∘

1800∘

900∘

https://dl.doubtnut.com/l/_rY5x8tNf207G


46.  


In the above figure (not to scale) , O is the centre of the circle and

.If  , then  _______.

A. 

B. 

C. 

D. 

Answer: C

¯̄¯̄¯̄CD ∣ ∣ ¯̄̄ ¯̄¯AB ∠DAO = 20∘ ∠AOB =

110∘

130∘

100∘

120∘

https://dl.doubtnut.com/l/_0eHFmOrxCeIN


Watch Video Solution

47.  


In the given figure, ABCD and BECD are parallelograms, BCFD is a

rhombus. If  then which of the following are the angles of

the triangle AEF ?

A. 

B. 

C. 

D. 

∠DBC = 80∘ ,

60∘ , 70∘ , 50∘

60∘ , 60∘ , 60∘

50∘ , 40∘ , 90∘

50∘ , 50∘ , 80∘

https://dl.doubtnut.com/l/_0eHFmOrxCeIN
https://dl.doubtnut.com/l/_jRfLuSgmuJia


Answer: D

Watch Video Solution

48. The perpenidicular drawn from the centre of a circle bisects any chord

of the circle. The following are the steps involved in proving the above

result. Arrange them in sequential order. 

 


(A) Let  . 


(B) Let AB be the chord of the circle with centre O. 

(C )  ( By RHS congruence property). 


¯̄¯̄¯̄OD ⊥ ¯̄̄ ¯̄¯AB

ΔODA ≡ ΔODB

https://dl.doubtnut.com/l/_jRfLuSgmuJia
https://dl.doubtnut.com/l/_pb7PZZohcrh6


(D )  (radii),  ( common side) and 

 


(E )  ( corresponding parts in congurents triangles ).

A. BADCE

B. BCDAE

C. BACDE

D. BDEAC

Answer: A

Watch Video Solution

OA = OB OD = OD

∠ODA = ∠ODB = 90∘

AD = DB

49. In the adjacent figure ( not to scale), O is the centre of the circle and

. Find . 


The following sentences ae the steps involved in solving the above

problem. Arrange them in sequential order from the first to the last. 

∠OBA = 30∘ ∠ACB

https://dl.doubtnut.com/l/_pb7PZZohcrh6
https://dl.doubtnut.com/l/_QO1MFpj2CMdQ


 


(A)  

 


(B) We known that  


(C ) Reflex  


(D )  (radii) .

A. ABCD

B. DCAB

C. DACB

D. DCBA

∠OAB = 30∘ , ∠OBA = 30∘

⇒ ∠AOB = 180∘ − 30∘ − 30∘ = 120∘

∠ACD = = = 120∘Reflex ∠AOB

2
240∘

2

∠AOB = 240∘

OA = OB ⇒ ∠OBA = ∠OAB = 30∘

https://dl.doubtnut.com/l/_QO1MFpj2CMdQ


Answer: C

Watch Video Solution

50.  


In the given figure ,  and .

Find .

A. 

B. 

C. 

D. 

¯̄̄ ¯̄̄ ¯LM ∣ ∣ ¯̄¯̄¯̄NO, ∠QMR = 50∘ ∠RSO = 110∘

∠MRQ

60∘

70∘

80∘

50∘

https://dl.doubtnut.com/l/_QO1MFpj2CMdQ
https://dl.doubtnut.com/l/_KP29tkb1wCKL


Answer: A

Watch Video Solution

51.  


In the above figure,  and ACE is a straight line . I f

 and , then find .

A. 

B. 

C. 

¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄DE

∠ABC = 30∘ ∠CDE = 20∘ ∠BCD

40∘

50∘

60∘

https://dl.doubtnut.com/l/_KP29tkb1wCKL
https://dl.doubtnut.com/l/_fto8mARIsFAo


D. 

Answer: B

Watch Video Solution

70∘

52.  


In the given figurs,  and 

. How many isoscles triangles are there in the given figure

?

∠BAC = 70∘ , ∠BCD = 80∘ , ∠EFC = 80∘

∠ABC = 60∘

https://dl.doubtnut.com/l/_fto8mARIsFAo
https://dl.doubtnut.com/l/_MI6XXvL6oSxQ


A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_MI6XXvL6oSxQ


53.  


In the figure , A,B,C,andD are the points on the circle .If AB =BE and

 , then find  .

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∠ACB = 30∘ ∠ADE

30∘

45∘

60∘

80∘

https://dl.doubtnut.com/l/_gMrkKUrmjRj6


View Text Solution

54.  


In the above figure (not to scale ),  and  If 

 and , then find .

A. 

B. 

C. 

D. 

¯̄¯̄̄ ¯GF ∣∣∣∣̄ ¯̄¯̄¯BD, ¯̄̄B∣∣∣∣̄ ¯̄̄ ¯̄PQ ¯̄̄ ¯̄¯AC ∣ ∣ ¯̄̄ ¯̄¯PR

∠x = 40∘ ∠y = 110∘ ∠QPR

70∘

80∘

60∘

50∘

https://dl.doubtnut.com/l/_gMrkKUrmjRj6
https://dl.doubtnut.com/l/_lN858VRNTS65


Answer: A

Watch Video Solution

55.  


In the figure above (not to scale ) ,

.If 

 , then = _______.

A. 

B. 

C. 

∠ABE = ∠ECD and ∠EBD = ∠ACE

∠BAC = 80∘ and ∠BEC = 100∘ ∠BDC

80∘

100∘

110∘

https://dl.doubtnut.com/l/_lN858VRNTS65
https://dl.doubtnut.com/l/_M7ot5xoDJqiT


D. 

Answer: D

View Text Solution

120∘

56. In  and PO is the bisector of . If 

 and  then  in degrees 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔPQR, PD ⊥ QR ∠QPR

∠PQR = 65∘ ∠PRQ = 23 . ∘1

2
∠DPO =

20
3

4

20
1

2

20
1

5

20
1

4

https://dl.doubtnut.com/l/_M7ot5xoDJqiT
https://dl.doubtnut.com/l/_LWCUcQpUx3yc


57. In a parallelogram PQRS, the bisectors of  and  meet on RS.If

the perimeter PQRS is 13.5 cm, then find the measure of QR

A. 4.5 cm

B. 2.25 cm

C. 3 cm

D. 3.75 cm

Answer: B

Watch Video Solution

∠P ∠Q

https://dl.doubtnut.com/l/_dMevHVoE65bh


58.  


In the above figure , O is the centre of the circle, AB and CD are diameters.

 . If E is the midpoint of AF, then find 

A. 

B. 

C. 

D. 

Answer: A

∠COB = 50∘ = 50∘ ∠ADF

130∘

100∘

110∘

120∘

https://dl.doubtnut.com/l/_6mx8q905yOG1


Watch Video Solution

59.  


In the figure above (not to scale), ABCDE is symmetrical about AF. If

 and , then find the .

A. 

∠C = 90∘ ∠BAF = 45∘ ∠E

90∘

https://dl.doubtnut.com/l/_6mx8q905yOG1
https://dl.doubtnut.com/l/_Y2udE22oDJvT


B. 

C. 

D. 

Answer: C

Watch Video Solution

105∘

135∘

130∘

60.  


In the given figure, PQRS is an isosceles trapezium and  If 

 and , then find 

¯̄¯̄̄ ¯PQ∣∣∣∣̄ ¯̄¯̄SR∣∣∣∣̄ ¯̄̄ ¯̄̄ ¯MN

∠SPM = 70∘ ∠PQR = 110∘ ∠PMN.

https://dl.doubtnut.com/l/_Y2udE22oDJvT
https://dl.doubtnut.com/l/_CBwUJ3H5PGRt


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

140∘

150∘

120∘

100∘

https://dl.doubtnut.com/l/_CBwUJ3H5PGRt

